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Simulation of a 2nd-Order System and Response Performance
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function sec_order sys exl()

%define the gains K1 and K2:
Kl = 10.69;
K2 = 0.077;

$define the numerator of the system's transfer function:
num = Kl;
den = [1 (K1*K2+1) K1];

%use tf built-in function in Matlab to obtain the transfer function
%0f the system using the numerator and denominator polynomials defined

$above:
your_sys = tf(num, den);

$define the simulation time as a list of time values:
tsim = 0:0.01:10; %the tsim variable is a list starting at zero, ending
%10 seconds later with incremental steps of 0.01v

seconds

%obtain the response of the system to a unit-step function input using
$the "step" built-in Matlab function as shown below. The "step" output isv

a
splot of the response for the specified simulation time tsim above.

step(your_sys, tsim);
xlabel ('time, in seconds'); ylabel('Transient response of a second-orderv¢

system');
.. title('Simulation of a 2nd-Order System and Response Performance'):
grid on;



